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What are the three functional planes of the VMware NSX architecture? (Choose three.)
 
 
A. Routing 
B. Control 
C. Data 
D. Integration 
E. Management 
 

Answer: B,C,E

 

 

 
Which technique best explains the use of the grained policies and network to enable
security inside the data center?
 
 
A. Micro-division 
B. Bifurcation 
C. Dissection 
D. Micro-segmentation 
 

Answer: D

 

 

 
An administrator is working in an IT infrastructure where traditional routing methods are
followed for routing network traffic. What are the three challenges for an administrator in
this infrastructure? (Choose three.)
 
A. The use of East-West traffic is not secure within a data center. 
B. North-South routing methods limit data center scalability. 
C. The complexity of routing increases in a multi-tenant environment. 
D. A suboptimal traffic route is used to reach destination. 
E. Adding new servers to an isolated network became difficult. 
 

Answer: A,B,E
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Which operational mode does the NSX Edge router use to connect to the logical network
for load balancing?
 
 
A. On-arm 
B. Transparent 
C. Inline 
D. Custom 
 

Answer: C

 

 

 
In a Software-Defined Data Center (SDDC) that has a distributed firewall, where are the
firewall policies enforced?
 
A. Guest operating system 
B. Uplink ports 
C. Virtual machine's virtual interface 
D. Host 
 

Answer: D

 

 

 
What is the default TCP port through which the Layer 2 VPN client makes an outgoing
connection request in the Layer 2 VPN tunnel architecture?
 
 
A. 443 
B. 843 
C. 440 
D. 401 
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Answer: A

 

 

 
How can the legacy physical network be simple, stable and reliable when network
abstraction is implemented?
 
 
A. By leveraging the existing physical devices without configuration changes 
B. By automating services for provisioning new services. 
C. By configuring new VLANs. 
D. By integrating third-party devices with the existing infrastructure. 
 

Answer: A

 

 

 
A security policy is a collection of security services of firewall rules, or both. Which security
service is applied to virtual machines to ensure data security?
 
 
A. Virtual machine 
B. Guest Introspection 
C. Network Introspection 
D. SpoofGuard 
 

Answer: B

 

 

 
How do virtual networks support physical infra structure Quality of Service (QoS)?
 
A. By receiving the help of the NSX gateway 
B. By marking the packets in the encapsulated header. 
C. By employing East-West traffic. 
D. By restricting the access of VLANs to specific pods 
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Answer: B

 

 

 
What are the two operational modes available with VMware NSX balancer (Choose two.)
 
 
A. Proxy 
B. Setup 
C. Baseline 
D. inline 
 

Answer: A,D
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